


Inmultirea cu 0 5% 0=0

Ox0=0 o6x0=0
1x0=0 Ix0=0
2x0=0 8x0=0
3x0=0 O9x0=0
4 x0= 0 10x0=0
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Inmultirea cu 2 5% 2 =10

Ox2=0 b6x2=12
1x2= 2 7x2=14
2x2=4 8x2=16
3x2=06 O9x2=18
4x2—8 ‘sz 20

®© 06




Inmultirea cu 3 5x 3 =15

Ox3= 0 o6x3=18
1x3= 3 7 x3=21
2X3= 0 8x3=24
3x3= 9 Ox 3 =27
4x3—12 10x3 30
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Inmultireacu4 g 4 =90
Ox4= 0 bx4=24
1x4= 4 I x4=28
2x4= 8 8 x4 =32
3x4=12 O9x4=36
4x4—16 10x4 40
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Inmultirea cu 5 5x 5 =25
Ox5= 0 6x5=30
1x5= 5 I x5=35
2x5=10 8x5=40
3x5=15 Ox5=45
4 x5 = 20 10x5 50
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Inmultirea cu 7 5% 7 =35
Ox7= 0 Ox7 =42
1x7= T I x7=49
2x7=14 8 x7 =56
3x7 =21 Ox7=63
4 x 7= 28 10x7 70
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Inmultireacu8 g g =40
Ox8= 0 6x3=48
1x8= 8 7 x38 =56
2XxX38=16 8 X8 =064
3x8=24 OIx8=72
4 x 8 = 32 10x8 80
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5x =50

Ox =0 6x =060
1x =10 7x =70
= 80

= 90

100



inmultirea cu 7

O0x7= 0
1x7= 7
2x7=14
3Ix7=21
4x7=28

Om.m.m.pmpmm
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inmultirea cu 1

inmultirea cu 0 5x0=0 2X:1| : 0
0x0=0 6x0=0 2§1=2
1x0=0 7x0=0 = 3x1= 3
2x0=0 8x0=0 ppe
3x0=0 9x0=0 e
4x0=0 10x0=0

inmultirea cu 2

0x2=0
1x2= 2
2x2=4
3x2=6

5x2=10
6x2=12
7x2=14
8x2=16
9x2=18

inmultirea cu 6

Ox6= 0
1x6= 6
2x6=12
3x6=18
4x6=24

Oww. uuuuuuuuu

5x7=35
6x7=42
7x7=49
8x7=56
9x7=63
10x7=70
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5x6=30
6 x6=36
7Tx6=42
8x6=48
9x6=54

10x6=60
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inmultirea cu 8

O0x8= 0
1x8= 8
2x8=16
3x8=24
4x8=32

inmultirea cu 5

inmultirea cu 4

:m. .............

5x5=25
O0x5=0 6x5=30
1x5= 5 7x5=35
2x5=10 8x5=40
3x5=15 9x5=45
4x5=20 10x5=50
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5x4=20
Ox4= 0 6x4=24
1x4= 4 7Tx4=28
2x4= 8 8x4=32
3x4=12 9x4=36

4x4=16 10x4=40

inmultirea cu 9

O0x =0

5x8=40 m——,. . _ g

6 x8=48
7 x 8 =56
8 x 8 =64
I9x8=72

10x38=80

2x =18
3x =27

5x =45
6x =54
7x =63
8x =72
9x =81

10x =90

Ommm o
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4x2=8 10x2=20

0x3=0
1x3= 3
2x3= 6
3x3= 9
4x3ﬁ12

: manutepricepute.
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inmultirea cu 3

5x3=15
6x3=18
7Tx3=21
8x3=24
9x 3=27

10x3=30
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50
60
70
80
90
100



